Time allowed : Three Hours

Second Paper : (b) Environmental Economics

100 for Arts

Maximum Marks : 75 for Scicnce
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Section-A { @US-37 )
Define environment. Discuss various ¢lements of environment. What is the
importance of Environmental Economics ? S3+10+3
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How is economic system of a country related with the use ol resources
availability? Discuss various methods of resources conservation.
et 3m =1 Sefa e TR STeey wEaET ¥ wEm § Sefu| § 2§

e =t fafv=t fafel =1 gwmm 10+10
Discuss the causes and impacts of forest depletion. HO0+10
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Section-B ( @US-9 )
“Industrialisation causes environmental problems.” Discuss. Evaluate the

various causes of pollution in India. 8+12
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Cntically discuss the objectives of State Pollution Control Boards in India.
For what extent have they achieved their goals ? 10+10
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Write short notes on any two of the following :

(a) Social dimensions of environmental change.

(b} Programmes for environmental management in India.
{c} Swaccha Bharat Mission and Environment.
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Section-C ( @U=-H )
Write an essayon Present Global Environmental Issues. 20
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“Climatic change has affected the life of human being.” Do you agree with

it 7 What efforts should be taken internationally to improve the situation ?
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Critically evaluate the role of World Trade Orsanisation. (WTQ) in

environmental protection, 6+14
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Seclect the correct answer with alphabet in the following questions and
wrie those in vour answer book given, Each question carries one mark :
20
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The VAlley of Flowers National Park is located at :

(a) Garhwal in Himalayas (b) Sri Nagar in Kashmir

(c) Neelgiri hills is south resion

{d) None of the above
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The element found most abundant in the crust of the earth is .

{a) Silicon (b) Oxygen  (c) Aluminium (d} Sulphur
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The simplest and least polluting way of deriving energy is :
(a} Coal {b) Nuclear

{c) Solar (d) None of the above
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Water covers about how much percentage of the earth surface ?
(a) 40% (b) 50%

(c) 60% (d) 70%
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(a) 40% {b) 50%

(c) 60% (dy 70%

Ultimate source of nearly all our energy resources is :

(a} Sun {(b) Earth's ¢crust

(c) Jupiter (d) None of the above
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(vi)

(vii)

Ozone hole means : I'taonline.com

(a} A large sized hole in the ozone layer
(b} Thinning of ozone layer

(c) Small holes scattered in the ozone layer
(d) Thickening of ozone layer
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Oxygen is harmful for :
{a) Ferns (b) Nitrogen fixing bacteria
(¢) Mango tree (d) Nonc of the above
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(viii) World Environment Day is celebrated on date :

(a) 8th March (b) 5th June

(c) 6th April (d) 15 June
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(ix)

(x)

(xi)

Which of the following is not a greenhouse gas ?

(a) Methane (b) Carbon dioxide

(c) Ammonia (d) Nitrous oxide
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Harmful chemical for Taj Mahal is :

{a) Hydrogen (b) Oxygen

(c) Sulphur dioxide (d) Chlorine
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World Heritage sites list consists of :

(a) Keoladeo National Park  (b) Sundarvan National Park
(c) Nandadevi National Park (d) All of the above
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Acid rain was discovered by : rtuonline.com

{a) R.A. Smith {b) John Dalton

(c) Robert Boyle {d) Satyendra Nath Bose
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“Green Peace™ non-governmental organisation is related with :
{a) Family welfare (b} Environment Planning
(¢) Agricultural Reform (d) Space research
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Major source of mineral in soil is :

(a) Parent rock from which soil is framed

(b) Plants

(¢} Animals {d) Bacterias
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Brown revolution is related with :

(a) Food processing {b) Buffalo’s milk production
{¢) Wool production (d) All of the above
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Arid Forest Research Institute (AFRI) is situated in :
{a) Udaipur (b) Jodhpur

{c) Kota (ch) Jaipur
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Which of the following crops is sown 10 increase the fertility of land?

() Moong Bean ih) Matar (Pea)
(¢} Urad {Black gram) {d) All of the above
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Goviit) First “Bio-food” Park of India will be established in State

(a) Haryana {b) Rajasthan
{c) Punjab (d)y Gujarat
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(xix) World Trade Organisation (WTO} was cstablished on ¢
(a) Ist Jan., 1995 ihy Ist Jan., 1994
() Ist Jan., 1985 (dy Ist Feb, 2001
farv =R WTER (WTO) = =09 83
(a) 1 SFEA, 1995 (b) 1 T, 1994
(¢) 1 FEd, 1985 {dy 1 FEd, 2001

(xx) Environmental problems have arisen due to:
{a) Forestation
{b) Proper use of national natural resources
{¢} Minimum usc of plastic materials
{d) None of the above
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